‘B Z=IRAERF No.lDfEZE

1. kOXEERE XL,

(1) (a+b-3)(a+b+5)

2 a4+ 2ab+ b2 +2a+2b— 15
2 (a+b—=3)(a+b—2)

. a?+2ab+ b —5a—5b+6
3) (a—b—3)(a—b+5)

2. a2 — 2ab+ b% +2a —2b— 15
4) (a+b+2)(a+b+1)

2 a2 +2ab+b2+3a+30+2
B) (a+b—2)(a+b—14)

2. a? +2ab+b%® —6a—6b+8

6) (a+b—>5)(a+b—2)

a2+ 2ab+ b2 —Ta—Tb+10
(1 (a+b->5)(a+b—23)

2 a?+2ab+b% —8a—8b+ 15
®) (a—b—1)(a—b—4)

2. a? —2ab+b* —b5a+5b+4
9 (a+b—3)(a+b—14)

2. a2+ 2ab+b% —Ta—Th+ 12
(10) (a+b—-1)(a+b+1)

Z.oa?+2ab+b%> -1



‘B Z=IRAERF No.2DfEZE

1. kOXEERE XL,

1) (a+b—1)(a+b+4)

26> +2ab+b>+3a+3b—4

(2 (a+b+3)(a+b+1)

a2+ 2ab+ b +4a+4b+3
3) (a+b—4)(a+b+1)

2 a2 +2ab+b2—3a—3b—14
4) (a+b+3)(a+b—-2)

Zooa?+2ab+b2+a+b—6

(5) (a+b+2)(a+b+5)

. a2+ 2ab+ b2 +Ta+ 7+ 10

6) (a—b+4)(a—>b-—23)

%.oa?—2ab+ b +a—b—12

(1) (a—b—>5)(a—b+5)

2. a? —2ab+b%—25

®) (a+b—6)(a+b+1)

. a?+2ab+b? —5a—5b—6
9 (a—b—3)(a—b—1)

%.a? —2ab+b? —4da+4b+3
(10) (a+b—3)(a+b+5)

2 a2+ 2ab+b%+2a+2b—15



‘B =IAZ\ER
1. ORE R L,

No.3 DfEZ

1) (a+b+1)°

Z.a?+2ab+b%2+2a+2b+1
(2 (a+b+3)(a+b—-2)

%. a®+2ab+b>+a+b—6
3) (a+b—1)(a+b+1)

. a?4+2ab+b% -1
4) (a+b—2)(a+b+2)

. a? +2ab+b? —4
B) (a—b+2)(a—b+3)

2. a? —2ab+b>+5a—5b+6

6) (a—b+4)(a—b—06)

Z.a? —2ab+b% —2a+2b—24
(7 (a—b+2)(a—b—1)

B.oa?—2ab+b2+a—b—2
8) (a—b—6)(a—b+1)

2. a? —2ab+b>—5a+5b—6
9 (a—b—1)(a—b-23)

%.a?—2ab+b? —4da+4b+3
(10) (a+b+1)(a+b—-3)

2 a24+2ab+b%2—-2a—20—3



‘B Z=IRAERF No.4DfEZH

1. kOXEERE XL,

(1) (a—b-2)°

Z.a®—2ab+b> —4da+4b+4
(2) (a+b+1)(a+b+6)

a2+ 2ab+ b2 +Ta+T7b+6
(3) (a—b+4)(a—b+3)

2. a2 —2ab+b%+Ta—Th+ 12
4) (a+b+1)(a+b+2)

2 a2 +2ab+b2+3a+30+2
5) (a—b+4)(a—b+1)

2. a2 —2ab+ b2+ 5a—5b+4

6) (a+b—06)(a+b—4)

. a® + 2ab+ b? — 10a — 10b + 24
(7 (a+b+2)(a+b+3)

2 a2 +2ab+b%>+5a+5b+6
@®) (a—=b+1)(a—b—6)

2. a? —2ab+b>—5a+5b—6
9 (a—b+1)(a—b—4)

2 a2 —2ab+b*—3a+3b—14
(10) (a+b—3)(a+b+6)

2. a®+2ab+b>+3a+3b—18



‘B =IAZ\ER
1. ORE R L,

No.b DfEZE

(1) (a+b+4)(a+b+1)

2. a2 +2ab+b%+5a+5b+4
2 (a—b+2)(a—b—75)

2 a2 —2ab+ b2 —3a+3b—10
(3) (a+b+3)(a+b—6)

2. a?+2ab+b* —3a—3b— 18
4) (a+b—2)(a+b+2)

. a? +2ab+b* —4
(5) (a—b+3)(a—b—6)

2. a? —2ab+b%*—3a+3b—18

6) (a+b+1)(a+b+3)

o0 +2ab+b>+4a+40+3
(7 (a+b+6)(a+b—1)

2. a?+2ab+b>+5a+5b—6
®) (a+b—2)(a+b+6)

Z.oa?+2ab+ b +4a+4b—12
9 (a+b+1)(a+b-75)

a2 +2ab+b —4a—4b—5
(10) (a+b—3)(a+b—4)

Z.oa?+2ab+b>—Ta—Tb+12



